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Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : [II[|A|& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, the write :
1. — A

® There is no negative marking for wrong answer.




NifeHolet 5T 2ATER (MCQ) &+ Treal fMrw=hiett

o TGotE e B RAGE (Subject) AWM @R @IS, @EGCEW 791, G
R (@F =71 fF7U0e TE |

Twizgas — (5 Paper [II-A (MCQ) <% III-B (Descriptive) |

Subject Code : EE

Subject Name : r |

o AArRditra FRelH AmE (MCQ) Ter fire zra | «fel o vrfS 3@ ol
e, IAFE (A), (B), (C) 9 (D) I (el otz | AwITE O Tead
FATF (A)/(B)/(C) /(D) A5> Fmloee o 757 Crnz Saasid Fre
|
Twizged — M 1 799 207 AdS Tea A 2 91 e 30| ¢

1. — A

* 9o OELFR T (P oS MR &R

Turn Over

(2)
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Each question carries 2 marks

Afefo 20 W= %

1. Wild Life Protection Act was enacted on —
(A) 1975
(B) 1982
(C) 1972
(D) 1970
S | FAT AT SN2 Bie] e —
(A) s»ac
(B) svvr3
(C) s»ax
(D) s»a0

2. Air Pollution Protection Act was enacted on —
(A) 1990

(B) 1985
(C) 1988

(D) 1981
3| AR AfOCHY S o] = —
(A) Sovo
(B) ssve
(C) Sovbr
(D) Sobd
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3. Medicine ‘Quinine’ is harvested from —
(A) Eucalyptus
(B) Aconite Plant
(C) Cinchona Plant
(D) Tulsi Plant

©| AR STls to T —
(A) TEHICTBIA (A
(B) WICHHIEG o2 (ACH
(C) PIC=IA! g (AT
(D) gewl oMz (A

4. Green House Gases are —
(A) CO,
(B) CFC
(C) NO, and water vapour
(D) All of the above

81 & 2T a5 2 —
(A) IRTTE AT
(B) (FIALAPA
(C) FZEGITE € Tlw Aol
(D) ToIF FASTA
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5. Chipko Movement originated in —
(A) Karnataka
(B) Uttarpradesh
(C) Assam
(D) West Bengal

¢ | oAt STwieTea @\?IN Q(.Nl(?\m —
(A) 3o
(B) Teadtmc
(C) ST
(D) APERT

6. Causes of Bhopal Gas incident was —
(A) DDT
(B) MIC
(C) CFC
(D) BCA

| gl A G e fre—
(A) DDT
(B) MIC
(C) CFC
(D) BCA
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7. Which one of the following is not a part of the same food chain ?
(A) Frog
(B) Snake
(C) Insect

(D) Goat

4| A (T G2 AW MEE TFGE T 2
(A) e
(B) i+
(C) e
(D) =I5tet

8. World Environment Day is —
(A) 22nd March
(B) 20th May
(C) 5th December
(D) 5th June

v | ey SR v 21—
(A) 3¢ W6
(B) o001 &
(C) 2 s
(D) ¢2 G
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9. Which of the following is biodegradable ?
(A) Plastic
(B) Paper
(C) Glass
(D) D.D.T.

> | NI PG 2BHeT 2
(A) =5
(B) Jlorer
(C) Fb
(D) [E.f.m.

10. Which one of the following is responsible for Malaria ?
(A) Bacteria
(B) Protozoa
(C) Virus
(D) Plusma

So | ICARA (Ao &y wiHt —
(A) IR
(B) ZBICEE
(C) wizz
(D) e
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11. Which of the following is responsible for Global Warming ?

(A) CFC

(B) Methane

(C) CO,

(D) All of the above

> | T TR &y (G W 2
(A) (CPIZTARIL
(B) farcas
(C) -T2 =HIZT
(D) AT FRSTA

12. What is the full form of WWF ?
(A) World Wildlife Fund
(B) Waste Water Funding
(C) Water and Wind Fund
(D) Water and Wildlife Fund

53| WWF @3 7Jcal 32if% 2ten —
(A) €T eTTHT FC
(B) ST SAGE TSR

(C) SAE (T TIT T

(D) SR T SATTART TS
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13. The largest variety of plants and animals is found in the —
(A) Temperate Forest
(B) Moonsoon Forest
(C) Tropical Forest
(D) Tropical Grass Land

so| (e @harm Sfer ¢ aidt (il [w —
(A) T JTGN ST
(B) G Tgfil wr=etat
(C) TG ITghl SIeCe
(D) GIFH Gerghr wreetet

14. The Rio de Janeiro Earth Summit organized in —
(A) 1972

(B) 1982
(C) 1992

(D) 1997
s8 | fe-fE-(araecal Tl Arae e & —
(A) S»a3
(B) Sav
(C) o5
(D) 54
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15. Air Pollution caused by —
(A) Insecticides

(B) Sewage
(C) Smoke

(D) Loudspeaker

Se | AY TR FIRd—
(A) T
(B) = <&
(C) &=
(D) TP

16. The measuring unit of Noise Pollution is —
(A) Bel
(B) Centibel
(C) Kilobel
(D) Decibel

SY | *Wwe HARNCHT G JCeil —
(A) G
(B) GiFoeaa
(C) RFeaTE=s
(D) CefT=eT
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17. Maximum Density of water is at —
(A) 4°C
(B) 0°C
(C) 100°C
(D) 272°C

34| SEF AW Ty TT—
(A) 4 &5 EIFocate
(B) 0 &8 @ifotare
(C) 100 T =IfBrate
(D) 272 &5 =IfSrarte

18. The Ganga Action Plan was enacted in the year —
(A) 1970
(B) 1974
(C) 1986
(D) 1984

St AP S 2 I = —
(A) s»a0 T
(B) s>a8 TR
(C) Ssvv TR
(D) >sv8 TR
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19. One source of renewable energy is —
(A) Thermal Energy
(B) Petroleum Energy
(C) Nuclear Energy
(D) Solar Energy

S5 | ANRITRe Wfeq G T 20eN —
(A) O
(B) ¥fvetwsife
(C) ~Armmeifze=ifes
(D) CTfE

20. Silent Valley movement was started in —
(A) Kerala
(B) Maharastra
(C) Nagaland
(D) Assam

R0 | ‘Silent Valley’ SNCWleTe &< 27 —
(A) LT
(B) W2IAIE
(C) «MaNeTICT
(D) SteAIes
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21. Dengue infection is caused by —
(A) Aedes Aegypti
(B) Anopheles Stephensi
(C) Culex Quinquefasciatus
(D) All of the above

25| (O RGN oI —
(A) Aedes Aegypti
(B) Anopheles Stephensi
(C) Culex Quinquefasciatus
(D) AT FRSTA

22. BOD is —
(A) Biological Oxygen Demand

(B) Bio-chemical Oxygen Demand
(C) Bio-physical Oxygen Demand
(D) Bio-mechanical Oxygen Demand

3| BOD 2Cet —

(A) AHGHI SHCS [T
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23. Full Form of AIDS is —

(A) Acquired Immuno Deficiency Syndrome
(B) Anti Immuno Destructive virus

(C) All of the above

(D) None of the above

29| AIDS @3 7l 326 20 —
(A) SOIFAMG BRCH! (SiFP Prrg
(B) Wif% T (Togte ©iza
(C) Tt ST
(D) T (@FI02

24. The word ‘Eco System’ was first coined by —
(A) C. Darwin
(B) 1. Newton
(C) A. Einstein
(D) A. Tansley

38| RO AT 2 J2F I —
(A) F1. TiFeE
(B) w2 s
(C) €. =NZTHiz
(D) Q. Ty
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25. The full form of WHO is —
(A) World Health Organization
(B) World Happy Organization
(C) World Helic Organization
(D) World Himul Organization

¢ | ‘WHO’ @3 9ji0 30 201 —
(A) TS (2 SefaiRE
(B) €S sl wrsffeiztemia
(C) €T @i Saflizreme
(D) €3S faxer Sffizreme
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